SS DUAL CHARGE AND JUMP PORT PANEL KIT

2020-2021 SLINGSHOT MODELS
INSTALLATION INSTRUCTIONS

2381 5HICKORY PASS SANANTONIO, TX 78264
SALES@ZARATESTEELWORKS.COM
WWW.ZARATESTEELWORKS.COM | PHONE: 888-552-9272

PASSENGER ‘ DRIVER

TOOLS NEEDED FOR
QTY- 2 (Pair) Panels Stainless Steel Hardware: INSTALLATION

QTY- 1 Remote Battery Jumper QTY-4 1/4"x 3/4"inch Bolts F19425

Terminals, Charging Post, Pair QTY-4 3/16"x3/4"inch Bolts F13972 - Allen wrench set
_ ; QTY- 8 Lock Nuts [4-F114752,4-F12190)
QTY- 1 Battery Tender Ring - Wrench set

QTY- 8 Stainless Washers [4-F117227,4-F113873]
Y 1/4 INCH
I | \ BOLTS

Terminal Accessory Cable, Pair

o Y ~
Start the installation by identifying the driver and passenger side plates. Passenger side plate
is for the jump ports. The larger 1/4 inch bolts and nuts go into the
upper side of the plate. The smaller 3/16 bolts go into the lower side of the plate.

FPAGE 1

/I\ WARNING: Cancer and Reproductive Harm- REVZFEB 2021

www.p65Warnings.ca.gov




Next slide the driver side plate in at an angle
around the brake line. Note: The brake line may
need to be moved slightly or bent to get the plate in.
After the plate is in place, install the bolts (bigger bolts

Remove the factory zip tie that holds
the brake line in place on the driver side.

Once the driver side plate is bolted, re-install the zip tie supplied with the kit. The
installation is now completed and can now easily access the battery.

ALL ZSW PRODUCTS ARE INTENDED FOR OFF ROAD LISE ONLY.
PAGE 2



	Page 1
	Page 2

